A1
= va ‘ A U NAT-FAL-Y NW=2000 (FERTENY-MEK)
0 o R = Bl 0102 | 7A-600 || 2%5Mg—55%Al-Znb %% > & MEn-#K +=0.8
- .2 N AP N\ g NK15R || 2%Mg—55%Al-Znd4% > mEms-Aik t=0.8
RN = B T 2%Mg-55%A1~Zn 5 > ¥ i 1=0.8 0-30% 30 A%
PR | Yey oo B & AEHRE 1=0.4
| | vy 5 -BUk 0-75x75%2.3
} | SIRRERIR 8 1K 2%Mg—55%Al-Znb 6% > X mEN-HIE 1=0.8 HIS
o _ . | N - ATP T IbEIR t=0.27
S o 20dll L 2%Mg—55%Al-Zna% 9> xmmE-Bik 1=0.8 (%7 1)
7 o™ i o — nAr - HOER 2%Mg=55%Al-Ins 2% - *mEn-R 1=0.8 (A7)
| 9 i A | A% 2%Mg—55%AI-ZnA%% - &mm-iR t=0.8
DRC = B 3 Bz 2%Mg—55%Al—Ina%0 > mEL-ER 1=0.8
S| g 5 - | ELTARN 2%Mg—55%Al-Ina &% > 2m@-#R 1=0.8
2= | e | vy 5 —ABE PClif
= | ! g | KEYR-2 7 )9038IR
| i | LEh - PEkt s
I u 3 e Al 4|
‘ BEIT VT IR 16/ b by y 7 PEBifE% EBEH (07575
230 | | el i PEk 5 REREI (e
‘ “ s {LhER 3 4 v b 5— || AESHES)
o 00 Qe ‘ )
A~ — | i g
's) o' 19)
™~ ™~ <t
(RE51%) 6060
FHX
(A9 %) 3250 (R4 15) 6060
(AMEATE) 3070 630 600 @600 630
’& {EIER260 (F%y7 ) 7Y e 7A-600
< [=) ] §~§-§‘§—§-§‘§~ l aiﬂi-iaiﬂi- "—'-'-'—7(/\/\/\4
Ff% / o 5 o HA A A | A R R R R A ‘ Sy
0 7
O r— — . R
Y193-7 b gﬁ Y
3= AN =) o SRR 18
— — — — [(— N
— — — — — ©
g — — — = — g <L gl
Q o e Qo =
™~ ~ ,
© © 300) &
5 fp]
o
|
| |l aL * / aL
‘ ‘ (FmEOT# 2610 ‘ ‘
‘ 3160 ‘ 3160

CKEFU~N-htk) 3310

[ AN - AN | LEN

HE ft _ low EEA% £ A B rTEHE i&eE| 7oy (48 4| =258 AR FIvy IEEH & &t
|24 R 7 Hrr—rE : o e F
[ HmE 4 ;
o 731’7‘—|~:jj‘p—°) e 7&[‘%1&%%97\7—'.&’%@’5 2 0 : %R 14/40 1%46)321.01.1'0 NW‘ZO?O (ﬁ%ﬁiﬁjl\lw—l\ﬁﬁ) HEES | NW20std1 051




